Il

SMoEET7THRBETE
BB RN TEEFEHNESE




%

E

fERER AT

e
=

4a
=



T B MIE TR SEEMEE

2 FH1 S A B EEELEHR
(Bpr - T1)
2 4 faE R | | 1 R H 2 THi%
HEL | B-1) AT EEE FEE 4,425
w oA R omE B W1 EETHITEDI
~Z
I N G e T NAY (51
% gl = = 30 | D%ff%“”“@u”u%i BRI R OV BV O B4 5 kAR
K*E(*io%o):E%ka@wmmﬁw#éﬁ4wxﬁ\M%%@%\Xk
CEARESIOKRTICL Y HIEELT 5 2 & CRIETAHWIEZE 2 P+ 520, U
77’“/®f£ﬁ%[95?§3@%:x 550 L EDFERER G, BEREEHO—ME kT 58
¥ M =
HIREIZ U 7 F ATE TR B &R F3
EREEETE 385, 0001
T b5 B R A Bh 4 4, 040, 0009
FERRBENE (HHBh & NER)
T 7 F R 4,000 X 60 A X 1A = 240, 000
RIELT 7 F o 8fEmME) 10, 000/ X 190 A X 2[E] =3, 800, 000/
50/l EARD2%D 5L, U7 F25%., RET 7 F L 15% CORERE AT
50500 AT 12,501 A (R5. 4L R &)
= = A
i IE Al D %A T LERH fHIERE DFA
21, 888 4, 425 26, 313
Hi fIERITOZA 1% DFA HEJRRR
8 [#& 5 5 0
10 |F=HZ 199 199 0
11 | 463 463 0
12 |Z&5et 21,171 21, 556 385
18 | &ML K O 4 50 4, 090 4, 040
W IE T B 0O M RN R
EIES RS 5 & Z Ofih — IR
0 0 0 4, 425
% B N 5
EN NN R EMIEFL H 24 PR 7 S5




FnOBEEJE M IE TR S EMEE

RE)
= B 1 AR A B BERER
(Bpr - T1)
E 10 2 & | = | 3 e E 1 2R B
s | (4-1) MR HEH 6, 253
woa F E | B 5 FELELOAEXDZNEBLIEOIT
~Z
R R 5 BEEEORR
e oa | FRECEIE
R R BT Y
HEIT AR OB BRI 9% B8
WEE -PARERFEEARG LR ES (DBHFX) Ik 3EET 5720, 7
OR—YP IR D EELZERERESCEFEEREXEORE 27T LT 50D TT,
Tz, BFHEEEREOHFEE IR DR ECHM - B OB ERME (RaEE) 1267
*ﬁ ﬂ:_: % /‘ﬁ 0) 57@73%%%‘J:'§«5§)@T'§«0
¥ M =
Tur—YILVEELZERERE 100, 000
RAEZERER
FH S TR E S T ReRh (RSB IE) 352, 000/
A EREREEELETR (RSB LE) 950, 0001
R T e 5 1, 430, 0004
ERBRBENE | HeHEEEEE
ST SR X A E RO T R 1, 540, 000
R RE R ES TR 1, 881, 0009
= ES A
T A B DA T LERH fIETZ DOFA
10, 421 6, 253 16, 674
Hi FIE B O FA L% DR HEJRRR
1 [ 480 480 0
7 |HREE 600 700 100
12 |Z&5Eet 8, 567 14, 720 6, 153
21 B K OVEE 4 774 774 0
W IE T B 0O M RN R
HEZHE 5 & Z Ofih — IR
0 0 0 6, 253
% TR N E
EN NN R EMIEFL H 24 PR Per |




